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® 912 - (a+b)? = a® + 2ab + b*
@ 597 - (a - b)? = a® - 2ab + b?
@ 1032 > (a + b)? = a® + 2ab + b
@ 84x75— (a+b)(a-b)=a®-b*

® 50.9%49.1 = (a+b)(a-b) = a*> - b*
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X7)2 = (x3)2 = x10
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(3a®b)? + a®b = 9ab

(2x% +5x=T7) 4+ (=3x> + 6x +6) = —x2 + 11x + 2
(

6ab + 4a?) + 2a = 3b + 2a

® -3x(2x—y) + 9x? = 15x% + 3xy



?

O
—

F2F olm, [8al 2] &k

S

— |00

@ 15

® 11



4.  (x+3y-1)(2x+y-2)E A7HstA?

@® 2x? + 3x + 5xy +2y* -2
@ 2x% +x+ Txy+ 3y -5
@ 2x% —4x+Txy+ 3y =Ty +2
@ 2x% +4x+3xy +3y> -3y -2

® 2x% —4x+ Txy+ 3y =5y -2



AB = 2a, BC
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® S =4nab

@ S =2nab

@ S =nab

® § = 16mab

@ S = 8mab



A= X;Qy,B:x_T?’y A uf, 24— {B-2(A-B)} S x, y ol T
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® 3x-Ty @ 3x-y ® 2x -4y

@ x-3y ® x-y
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8. 1343 {§ + (0.5 - g)} 0.8 & Axkatolat,
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O 144ab

@ 144a*p*

@ 1444°p? @ 144a3p3

® 144a°p°
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14. 9= F 7 2 +e?

@ 2% @ 3% ® 415 @ 510 ® 9



15. (@a+b+c-d)(-a+b+c+d)+(a+b-c+d)a-b+c+d) &
A0Sk ?

D 2ad + 2bc @ 3ad + 3bc ® 4dad + 4be

@ 3ad - 3bc ® 4ad - 4bc



